2y - [x+y—{2x - (5x+3y)}] E tHa]

® -5x-2y @ —4x-2y

@ 2x -5y ® 4x+ 3y
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(x - 2)(x +2)(x2 + 4) & AASHA?

O x*-4 @ x*-16

@ xt-8 ® xt-16

@ xt-4



3. o F[ [orel Sold 47k vhelA) Wizt oh A

O (-4 +2)=x2-[ -8
@ (~x+29)(x+[__)=-2*+4y°
® (a+2)(3a-4)=3a>+[_ Ja-8
@ 2x+1)2=42+[ |[x+1

® (x+y-2)(x+y+2) =22+ |y+y*-4
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33+3a=§, 25 +5bx25 =125 € W, a+ b 9 ZH2?

@D 3 @ 4 3 5 @ 6
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(a) (=x)2 x 4xy = —4x3y

(b) 6ab + 3a x 2b = 4b*

(c) —=8a® + 4a + a = —2a*

(d) (9xy = 6y) + (=3y) = —3x -2
(

¢) —8a%b x 3ab? + (~12ab) = 2a®b?

@D 17 @ 271 ® 374 @ 4 7 G 57}
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& SollA 87t (-1

x+3y=2
@
—6x+ 7y =13
—4x+y=0
©) y
x+y=0
2x=2y =5

2

2 BT v2w? (P 2)

0.3x+0.5y =3
2x4+y=-
dx—Ty = -
—x+y=2
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40 x 99 + 131
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@D 4.082

? 4.119
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11. A = (12a°b° - 84°b*)+(2a%b)?, B = (4a°b* — a®b?)+(—ab)® & W,
S W&ot 4 CE FoHH?

A-(B+2C) =3ab®+1& U

@ C=ab @ C = ab? B C = —3ab?

@ C = 3ab? B C=-ab
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13. 0.30 = ax0.01, 0.300 = bx 0.001 & 9, |a —b| 9] L2

D 150 ® 220 3 270 @ 320 ® 350
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D9 ® 11 ® 13 ® 15 ® 17
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